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sinx = y'=cosx

COSX

tan X

cotx

SecC X

CSC X

—

=
=
=

= —Sin X
2
= Sec X
2
—CSC™ X
Sec x *tan x

—CSCX *cotx
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Examples :-

Find y ' for the next function.

1) y =sin5x = y'=cos5x *5

y ' '=5*cos5x

cosd4x = y'=—-sin4dx *4

—4*sin 4X

2 2 2
tanx " = y ' =sec” x " *2x

2 2
= 2X *sec X

:sins(x3+2x—1): y’:5*sin4(x3+2x—1)*cos(x3+2x—1)*(3x2+2)

y ' = (15x2+10)*sin4(x3+2x—1)*cos(x3+2x—1)




5y :sin(7x2+4x +1)
y'=cos(7X°+4X +1)* (14 x+ 4)

y'=(14x+4)*cos(7x°+4x +1)

6) y =tan (X “+3x)= y ' =2*tan(x “+3x)*sec (X +3xX)*(2x+3)

y'=(4x +6)*tan (x " +3x)*sec’(x * +3x)

1
7)Yy =sin§/x_:> y'=cosifx_*—
3*§/x2

8)y =sin3x *cos3x
y '=sin3x *[-sin3x *3]+cos3x *[cos3x *3]

!

y ~3sin”3x +3cos” 3x

: 1 .3
9)y =sinx — —sin” x
3
1 . 2
y’:cosx——*)z/*sm X *cosx *(1)

y'=cosX —sin" X *cosx = y'=cosx[l-sin’x]
where:[sinzx +c0s’ X =1]= [coszx :1—sin2x] (law )

r % 2 r 3
y'=c0sXx *cos X = y'=c0Ss X

1 3
10)y =tanx + —tan” X

3

1
sec’ x +—*,Z/*tan2x *sec’ X * (1)

Z

2 2 2
sec x +tan x *sec X

2 2 , 2 * 2
sec Xx[l+tan " x]= y '=sec x *sec X

4
SseCc X
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dx

y

1 2X
Dy =In(x"+3)= y'=———*2x = y'= ———
(x "+ 3) (x "+ 3)

1 ) sec’ X
2)y =In(tanx)=> y'= —*sec X => y' = ——
(tan x ) (tan x)

1 1
log,sinx = y'= *cosx => y'= cotx
In 3 sin x In 3

=In(sinx *cosx)= y =Insinx +Incosx

1 1 _ . CosX sin x
= *COoSX + *—sIinx = y ' = —
sin x COS X sin X COS X

= Cotx —tanx

1

- 1
In§/4x2+5x — y =In(4x°+5x)® =y =—In(4x *+5x)
3

1 1 8X +5
—* - *8X +5= y' = >
3 (4x  +5x) 3(4x " +5x)
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y =e' =y =e *u’

Examples:-
1)y =e" => y'=e *1= y'=¢e"

2)y =e* = y'=e **5= y’'=5%¢

3)y :e‘/x=:>

1
2

4)y:e :y,:exlnx*(x

1 X InX
*—*1+Inx*1l) = y'=(—+1Inx)e |

X X

5)sec(e)= y'=sec(e™)tan (e )*4= y'=4*sec(e’)tan (e*")
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a
1)y =In—= vy =1Ina-Inb
b

2)y=In(ab)=y =Ilna+1Inb

n

3) Yy =Inx = vy =nlInx




